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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER - 5 (NEW) - EXAMINATION — Summer-2024

Subject Code: 4350706 Date: 21-05-2024
Subject Name: Advance Computer Networks
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.
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Q.1 (a) Findthe Subnet Mask, Subnet address and Broadcast address for the 03
classless IPv4 address 193.57.32.150/25.

WSl () SAl™AY IPv4 B3 193.57.32.150/25 HI qGal2 HIRS, MG 03

A 3U v Gllss1e A3 Al
(b) Do as directed. 04

1. Convert the 192.168.1.1 IPv4 address into binary and
hexadecimal representation.

2. Convert the 11001100 10000001 00010001 00110011 binary
IPv4 address into decimal and hexadecimal representation.

(01) YU Yo 53U, oY

1. 192.168.1.1 IPv4 WS o WU wel SSUSRHEHT Socde

53U

2.11001100 10000001 00010001 00110011 G113l IPv4 ﬂs%l o

SlHE W EsUIS[RAHAU] seale SR,

(c) Draw and Explain IPv4 Datagram Header Format. 07

(5)  1Pv4 o 321U &5 S1H2 £12] e Yud). 09
OR

(c) Explain different types of ICMPv4 messages. 07

(5) ICMPV4 ol @2 WG| YsIsil HA% HHomdl. 09

Q.2 (a) Write the unabbreviated (Original) form of the following IPv6 03
addresses.
1. F:BC:CC::123F:A
2. O:FF:3
3. :FFFF

usl2 () eildeil IPv6 ARelIUivlef 20[E1H (01) 2+ Uil 03
1. F:BC:.CC::123F:A
2. O:FF:3
3. FFFF
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Compare IPv4 and IPv6 (Any four points).

IPv4 sl IPV6 ol ARMIHEI] 520 (516Ul YR UlE2).
Draw and Explain IPv6 packet header format.

IPv6 U2 &SR slH2 €121 Wa AHomdl.

OR
Write the abbreviated (short) form of the following IPv6 addresses.

1. 0000:AFFO0:0FFF:1234:0000:0000:0000:0000
2. 1234:2346:0000:0000:0000:0000:0000:0FFF
3. 0000:0001:0000:0000:ABCD:FFFF:1200:1000

o{|Asil IPVE Ul Mo A (81H (251) 26U QU

1. 0000:AFFO0:0FFF:1234:0000:0000:0000:0000
2. 1234:2346:0000:0000:0000:0000:0000:0FFF
3. 0000:0001:0000:0000:ABCD:FFFF:1200:1000
Explain the advantages of IPv6 when compared to IPv4.

IPV4 ofl AW IHRIHUL IPV6 il SIUEL HHosd),
Explain three strategies of transition from IPv4 to IPv6.
IPv4 ] IPv6 Hi 4 5HBLo{] AQl cysell AH21dl.

Explain the following timers of the RIP.

1. The periodic timer
2. The expiration timer
3. The garbage collection timer.

RIP <l o{|et] 218HR HHenldll.
1. [URAIS]S 218U
2. WSYULQUel 2LEHR

3. dllcdes sAs9lel 2165HR
Describe Intradomain and Interdomain Routing.

o219\ 0el W) Ho2RS\ Aot :E[0lo] Aot 53).
Explain Distance Vector Routing Algorithm.
[SU2a dseR 2]l e R Hudl.
OR
Compare RIP and BGP routing protocols (Any three points).
RIP wa BGP 2[3 ullslds{l el 520 (slgul ~.l
ylgee).
List out all the path attributes. Describe any two of them.
dHIH ule A [2uyeyedl ALl watidl. duiell s1EuLl def dle

53U
Explain Link State Routing Algorithm.

([ds w2 1]l WU [RuM YHeosd).

Write any three differences between UDP and TCP.
UDP el TCP deil S16UBL AL dlddl qudl.
The hex dump of the UDP header as follows:

05DC0035001D0000

Find the following from the UDP hex dump.
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(a) Source port number

(b) Destination Port number

(c) Total Length of the UDP Header
(d) Length of the data

UDP &5l &5 SWU «{lA Yooy 8:

05DC0035001D0000
UDP &5 SauHiefl «f1Aeil 214,
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(b) SR2ALUet ULE olti2

(c) UDP &S3¢{l 54 4wl

(d) 321l w1

Draw and Explain TCP segment header format.

TCP Q2w &52 §lHe el wal yued).
OR
Write any three differences between UDP and SCTP.

UDP el SCTP clell 51EURL AL d§laldl eud).
The hex dump of the SCTP header is as follows.

09C4138C0000002000000040
Find the following from the SCTP hex dump.

(@) Source port number

(b) Destination port number

(c) What is the value of the verification tag?
(d) What is the value of the checksum?

SCTP &52¢1l 54 SHY o[ Yoyl 8.

09C4138C0000002000000040
SCTP &5u SruHiel] «{1Aei1 N8,

(a) A ULE iR

(b) SReALlet ULE ol

(c) AR[s32le1 2915 Y 9j 87

(d) ASHHe} YR Q) B2

Explain the TCP connection establishment and TCP Connection
termination using a three-way handshake mechanism.

ofl-d  &o59s (HUi[AnHel Guduldl s TCP  SASUe
A 10El2NeR e TCP S5t 2[HaARle Y1),

Write any three differences between HTTP and DNS Protocols.
HTTP 34al DNS Wl2ls1ed aell s1euBL ARl dslddl qudl,
Explain Web-based Mail.

Aul-w 18l Rd Aed Y-,

Explain recursive domain name resolution with diagram.

SIUIAM U1 RsRId S\t AH RA\RYRAet AHd),
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Write any three differences between POP3 and IMAP4 Protocols.

POP3 i) IMAP4 Y1215ld el SIEURL ARl dslad) dul.
Explain File Transfer Protocol (FTP).

§186 21152 W12lsld (FTP) dHesdl.
Explain iterative domain name resolution with diagram.
SIRUIAM A1 ©2321d SlHst AH RB1EYLst AHod).
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